50. lsodopes of the same slement have
A Sama number of neutrons
1B) Same alomic mass
{Ch Same number of protors
{0}  Dillerent atomic numbar

51. In a reachion between o and ledine, Zing lodide is formed. What s
being oxidiacd ?
(A Zinc iong (B} lodide inne
() finc Alnm {0 loding

52.  Which of the following halogens s the best oxidising agenl 7
(A} Fa (B Cl {CY Bry (D} ts

53 NMarogen s used to fill electric bulbs because it
1) e lighter ihan air
(2] makes U bul lo givee mone Eg
(S} dnes nol support combustian
(L) 1% non-toxic

54, [roth floatation process for the concentration of CWes s an desirabion ol
i prachinal application of

(&) Adzarplion (8] Abscrplion
(&) Coagutation (D) Sedimentalion
55.  The process of increasing fartilly of £0il by earthwerms i known as
(A1 Organic farming (B) Vermicomposling
{€)  Cutrophication (D) Yvarm Casting
56.  The most abundant sement prasant in the slanis &
[A) Iron (B} Carbon
IC} Mitrogen (D) Manganese

87, An enzyme brings abou
) Decrgage in reaction lime (8] Increase in reaction time
{C) Increase in activalion energy (D) Reduction in aclivation snsrgy

3B Widneys are not only organs of exerabion, their work is supplemaonted by

(&) Livar 1B} Hear
{C) Large mtesting (Y Skin
53, Thelongest ced in the bady of an animal ie
(A Cetepcytes (B} Mewron
{C) Chromalophores (M Lymph comuscles

60,  Vnamin nesded for blsod ceagulation ig
A} E (B) D C1 K iy C
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61,

B3

&5

8T.

Tha 1926 sassion of Indian Nabonal Congress is of significance in the

hiztary of tha Freedom hMovement bacause he

1A} atainment of Soif-Covernment was declared as the objoctiva of the
Congress

(A} atainment of Pooma Swara) was adopted as e goal of the
Congrass

(Z) Men Cooperation Movemen! was launched

(D} decision o panicipate in the Round Table Conference in London was
taken

The movemen thal came 1o an abrupt end duc 18 the Chaun Chaua
Incident was the

{A) Wahahl Movement {B) Home Rule Moverment

() Mon-Cooperabon Movement (0 Civil Disobecienca Movemant

Tiatch e folowmng:

P} R Das 1 Bardaoli Satyagrana
Q)  Vallabh Bhai Patel 2. Swarapel

Ry Abdul Ghatfar Khan 3. Rhitafahst

5) Mmdana Arad 4. Khudai Khidmatgar
(A} P-2,0-1.R4,83 (B) P23 4R-1583
(G} P=4.O=1, R=3, 3-2 (D} P=2 Q-1 R=3, 54

Mangy can be spent oul of the Consolidated Fund of India
(&) wilh the apgioval of e Pressdent

{H) wilh the approval of the Pariamant

(S} with the approval of the CAG

(D) wath the approval of the above adhonities

Which of the followang is not a conditicn for bacaming 3 Citizan ol India 7
(Ah Bidh B} Descent
[C)  Acquinng property i) Nawmalsation

The Qath of Office i conducted to the Prasident of Inda by
{A) The Speaked of Lok Sabha (B} The Chiel Justce of india
[T} The Vice-Prosdant of india {0} The Prime-inisias of India

Dew is cawsed wien

(&)  hemid air condenses on cool surlace
(B) the sky s overcast af night

{C)  the air is colder than the earth's suace
(D) thee wined ks bog dry 1o cause rainfall

Corbett National Park i in
(A) Rinar (B) Madhya Pradesh
{C} Uttarakhand (D) Himachal Fradesh
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T

T4,

5.

Which crop reguires waler-logging for its cultivation 7

(k) Tea (B) Cofniga
C) FRice (0} Mustard
Civa can open a Savings Account In Inda excapt in
{A) A Nalonalised Bank (B) A Conperathe Rank
{C} a Private Bank (D} Resarve Bank of India
The Term “Insida Trading” is related 1o
{A) Share Market {B) Horse racing
() Taxation [0} Public expandilure
The term MOM was in news. In relation to
(&) LCAG rapon (B} Asian Games
(S} Mangalyaan (D) Election Commissinn
Merdeka Cup is associated with
(&) Imernabonal Table | enne (B} Badminian
(2} Hockey (D) Inlermational Foatball
Recenily, referendum for independence was hald in
(A} Hongkong (B) Iraland
(€} Scotland (D} Gemnany
Mateh Col. X (Sportsperson) and Col. ¥ (Sports)
Col. X Col ¥
P. JituRan 1. Dadmanion
@ Heena Sidhn 2. Wrestling
R. Jwala Gutlo 3. Shooling
8. Yogeshwar Cutl
(A} P-3.Q-3, R4, 5-2 (B} P-2, Q=3 R=1. 52
(Cy P=2 0=-2 R-1,5-3 (0) P=3 0=1, R=1, S=2

Which of the following celutwiies was recently appointed as “Brand
Amhassador of Telengana?

(A} Deepika Pallikal (B8) VWS Laxwman
{C) Saina Nehwal [[1) Sania Mirza
EBOLAIs a

(A} wirug disease confirmed in West Africa

(8)  mame of Tsunanmi

[C) Mame of anti-terroris! operation in Arab Counlry
(D} wolcano in Afncan Hills
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T8,  BKS lyengar, who died recently, was  workd rencwned
(A} ¥Yoga Gury {BY Artet
{C} Folk Singer () Film Cirseta

T3 Which Country has recently launched “Gandhi inspired Tourist Attraction
Project” ?
{A) England (8)  Soulh Africa
(C] UsA 00 Japan

80. Who among the following has designed the logo and slogan of the
“Swachch Bharat Abhiyan®
(A) Neslam Enaltacharjes (B) Anant and Bhagyaahrea
(L) Uday Kumar {0} Virman Kahli

#1.  The glegan of Asian Games Ingheon 2014 was
() Green, Claan and Friendship
(B)  We Cheer, We Share, We Win
[T} Diversity Shines here
(D) Tha Games of Your Liie

gL “The "Heimand Provinge” of Afghanisian is famous for cultivaton of
(A) Tobacco (B) WVWhoat
{C) Coltun (O} Cpium

1. Main objectve of newly announged “Pradhanmanti Jan-Dhan Yoina®
e ?
(&) 1o provede a bank account 1o every poor
(B} 10 provide a inberes) fresloan io fammers
{C) 1o provide financial assistance to tribal communicalzn
{0} 1o prowide frae medical facility fo minonty people

B4 Consider the following pairs |
1. Garba: Guparat
7 Mohiniattam : Odiena
3. Yakshagana - Karnataka
Which of the pairs given above isfare comactby matched 7
{4} 1 only {B) 2and 3 only
{C) 1 amd 3 ualy () 1, 2and 3
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Devdas and Parinita are Princapal Btorary works by
(A) Rabindgra Math Tagore (B} Sarat Chandra Shalterjec
(C) Salyajil Ray (D) Munshi Premchand

The capacily of two pols is 120 liires and 55 lires respeciively. The
capacity of a contairer which can exaclly measuie e conlents of e wo
pots s

(A) 7500 e (B} 78500

(Cy BOO0 e (D) 95000

A sum of T312 was divided among B0 boys and some QiIfs in Such & wiy
that each bay gele ¥3.60 and each girl 240, The number of girs k5
(A) 35 By 40 () &0 () 6S

Some sludents plannad a inp. The budget for faod was TS00. But & of
them tailed 1o go and thue the cost of focd for aach member increased by
5. How many students altended the trip ?

(a) 15 By 20 c) 2% (o} 30

In a clage, thore are bwo eactions A and B. If 10 students of eaction B shifi
over to soction A, the strength of A becomes three limes the strenglh of B
Bul. if 10 students shill over from A to B, both A ard B are equal in
slrnrq]lh Himwas I'I'll'ljl’ hiadans A thane in seclions 4 and B 7

{A) 50 and 30 (B) 45and 15

(C) &0 and an (O} B0 and 40

1250 articles wers asinbged amaong studants of a class Each studant god
twice 25 many aricles as the numbar of egludente in thal group. The
number of students in tha group was ©

{A) 5 (B} a5

{Cy 50 (0} 100

The average of marks of 26 students in Maths was 50. 8 students el the
school and then the average Increased by 5 VWhat &= the average of marke
nblained oy Ihe sludents who left the school 7

{A}y 375 (B) 42.5

{c) 48 (D} 50.5

Six pereons wenl fo o hotel for meals. Five of them spent 132 gach on
their meals while the 0" person spent T80 more than the averbye
expendiure of all the six Total money spent by all the persons is

(A} 192 (B) 240

() T288 (D) 7338
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.

100

Iha sum of bwo numbers ie 2480. If 6.6% of one number is equal to 8.59%
of the other, the greater number is ;

(8) 1079 (B} 13HD

{Cy 1411 Dy 1250

X ig 40 yeare ok and Y ie 60 years old. How many years ago was the ratio
of theiragea 3: 57

(A] 5 years (B) 10 years

Gy 20 years {00 37 yeas

In measuring the sides of a rectangla, srrore of 5% and 3% in excess are
made. The ermor percent in the calculated area is

A 8.35% (B) 7.15%
i) 8.15% (D) 6.25%

If & frame ia aokd at B60, there is a loss of 15%: For a profit of 2%. the
frame is bo be soid al

A 70 (B) 72 cy s D) 85

On seling 100 pens. a shopkeeper gains pice of 20 pens. His gain
pereant i
(Al 25% (B) 20% )y 15% > 12%

F
1580 ie divided among A.B.C such mnl.ﬁgnla; of what B gets and B geta

1
; ofwhat T gets. Then thew ghares are respectively

{A) TTH, €375 T2ED (B} 780, T120, 1480
(C) ¥20, T210. T80 (D) 100, ©200, €380

XY and F start a business X invesis 3 times 38 much as ¥ invests and Y
2
mmmgmmmal.{msm. Then the ratio of capitals of X, ¥, 7 iz

(A} 3:9:% (B} 6:10:15
C) 5:3:2 0) 6:2:3

A4 man, 3 woman and a boy can logether complate a piece ot work in
3 days. if a man alone can do it in B days and a boy alone in 1B days, how
larg will & woman take o complete the work?

(&) 9days (B) 21days

() 24 days 0y 27 days
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102

103,

104,

105,

108,

107,

A tap can fill a cistern in & hours and anolher Lap can ematy iLin 15 hours,
if both the taps are open, the time taken 15 fill the tank will be

{A) B s, (B) 10 hrs.
{C) 16 hrs. (D) 24 hra.

Twu lrains approach each ether at 30 keifhr and 27 krnfhr from two places
342 km apart. After how many hours will they mest ?
(&) B hre. (B) 6 hre
(G} Tlhus, ot (D) 12 hrs.
z%;:-
The speed of a 150 m long train is 80 kmph. How much limde will if 1ake 1
pass a 500 m long platform ?
(A) 50 S8 (B) 54sec

(C) 60sec (D) B4gac

In how many years, a gurm will be thnce of it at simple inlares! @ 10% per
annum 7

(A} 15 years (B} 20 yaars
{C) 30 years (D) 40 yaars

A gum ol menay amounts 1o T9RR0 In 2 years and 110848 in 3 years. The
rate of interest per annum on compoundod bagis is

(A) A% {8y 10%
{C) 15% D) 20%

Tha perimaters of a cireular l:eld and a square fiehd are egual, Il e sica
af the square field is 12100 m?, tho area of the circukar finkd wil ba

1A} 15500 m” (B} 15400 m®
c) 15200 m? (o) 18300 m’

If the height of 2 cone is doubled, then the ooease in i volume is
A} 100% (B) 200%
(C) 300% (o) 400%
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108,

110.

11

112,

113

115,

An angle 15 one fifth of its supplement. The measure of the angle
ay 1% {8y - ) oaeT Ly s

The angle of clevation of a ladder leaning against a wall is 807 and the
foot of the ladder is 7.5 m away from the wall. The kength of the ladder is

Ay 16m (8) 1488m
{C) 1564m {0) 158m

Select the option to replace 7 such that pattern in given number senes is
conlinuisd

6,13,.25.51.101. 2
(A} 201 8y 202 (Cy 203 {0y 205

Select the option 1o eplace 7 in given alphabet series 10 conlinue the
pattern

WFB, TGD, OHG, 7
(A1 NIJ (B) MIK () MJK {0 OIK

In given letlar series, some of [he lellers are miesing which are given in
that arder in options. Select the comeact oplion
_bedbc_deand_bedbe_dc_bd

(A) AARAR (R) ceoone

[C) bbbbb |y aaaas B

Selact the cpbon fhat ghowe similar relabien as between given words,
anack : Defend

(A) Gradual : Abrupt (B) Sedate : Calm

{C) Assign : Allot {0 House : Home

Select the opbion such thal relation between words on edther side i
similar,

Vigitant : Alart : | Viabla ;7

(A Aribe B} Hopeless
{C)} Feasible (D) Unsaetul
Select the odd one out

{A) Iran ) Mickal
(C) Cobait (D) Alumindum
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